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34pg x r=(4x5xa x(2x 

= 60 X 
60 

i 4x3 2 
16 

idatb-C=5-2=10 
25 0 Qa 



20:5 

=5 

)H0m+4n- Bn)-5n= 0m+n-5n = 10m-44n 

1Sb-6b) -8b+4b) = 9b-12b z-9b 

i--4a -a)--12a) = 12a

-(u-(-z+y)=*-2ts+2-s 

ip+-r-s)=(p-9-r p-2-Y-s-pt9+r= p-p-2+=rtrs 
-S 

via+b-ctd) -e-)=atb-c-d-etk 
vi3z +(8x-50--x)= Sx t8x -6x =0 

a-a-b-c)=_a-a tb+C btc 



a(2a?-a2) -(a2- 6a2+a2-a+2 
6ab2 

xi2m-(3m+n -bn)= m-3m-4n)== 2m- 3mtAn=- 

XI m-n--m-m==M-ntM-m=N=m. 

xii xty=lzty-2) = ty-(aty-z) Ex+Y-{1-1+252 
XIv)xiw5y-(5x-10y +6x-34) = R5y-(llz-12)=R5y-l2E1 

5y+123y-11~= 38y-llx 

xv9x+(x- 2t) = 32 +(2x-x-2):3zt x-2= Yx-2 

xVllda- 4d. +3a) aQa ta=a--5a)= a+ 5a= Ga 

XYiS2-(3x- 2-4)= 5x23-2+4)= 5x2-2x2-4

5x242-8x-4= 62-3z-4 

XVii=u-z)-(2tyi-2x +y)E-4-)=(zty-2x-Y 

-(u-D--2=-y+2tX=** 



Ex 0 C 

Dste 

2a 2a +b-C 2a+(b-c 
i3 zts= 3x - (z-y 
iip6p-5x +0 = 6p- (5 -
a tb-ctd = at(b-C+d_ 

Sa Ab +4x -2 = 4z-A4b-Sa+c 

vii3m-n+66- (Bm +2n 
Jii t+x=p-qts =t tr-lptg-js 


